



**Vendor Ranking** 

Page 1 of 1

**Letting:** 06210225 February 25, 2021 11:00 AM **Call Order:** 002 **Contract:** E6N42

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 610 CALENDAR DAYS Project(s): 43898467201 (\*)

Contract Desc: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BELLA FIORE LANDSCAPING LLC	Responsive	Winning bid	\$181,103.23	100.00%
2	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$399,751.00	220.73%
3	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$425,138.85	234.75%
	MCINTYRE MAINTENANCE INC.,	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 3

Letting:06210225February 25, 2021Call Order:002Contract:E6N42District:District 6Counties:MIAMI-DADEFed Aid No: N/A

Contract Time: 610 CALENDAR DAYS

Project(s): 43898467201 (\*)

Contract Descr: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven Contract that consists of providing labor, equipment and materials to perform mowing, litter removal and edging on various sections of State Roads A1A, 823, 847, 860, 909, 915, 856, 852, 924, 953, and 916 in Miami-Dade County.

Visit www.bidx.com for more information.

Line No / Item ID Alternate Item Description	Quantity Units	(1) BELLA FIORE LANDSCAPING LLC		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S	SMALL MACH	IINE MOWING (AC					
0005 E104 4 2 MOWING (SLOPE)	451.950 AC	30.00000	13,558.50	88.00000	39,771.60	63.00000	28,472.85
0010 E104 4 3 MOWING (SMALL MACHINE)	1,615.230 AC	46.00000	74,300.58	88.00000	142,140.24	150.00000	242,284.50
0015 E104 4 4 MOWING (INTERMEDIATE MACHINE)	775.230 AC	40.00000	31,009.20	88.00000	68,220.24	75.00000	58,142.25
0020 E110 30 LITTER REMOVAL	4,491.400 AC	10.00000	44,914.00	22.00000	98,810.80	15.00000	67,371.00
0025 E110 32 2 EDGING	1,154.730 MI	15.00000	17,320.95	44.00000	50,808.12	25.00000	28,868.25
0001 SMALL MACHINE Sec MOWING (AC)	tion Totals:	•	\$181,103.23		\$399,751.00		\$425,138.85



03/03/2021

# **Tabulation of Bids**

Page 2 of 3

Letting:	06210225	February 25, 2	021 <b>C</b>	all Order: 002		Contract:	E6N42	
Line No / Item Item Description		te Quantity Units	(1) BELLA FIORE LANDSCAPING LLC		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	
( ) indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract G	Grand Totals:		\$181,103.23		\$399,751.00		425,138.85



03/03/2021

### **Tabulation of Bids**

Page 3 of 3

**Letting:** 06210225

February 25, 2021

Call Order: 002

Contract:

E6N42

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.